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import sys
sys.path.append("statlib")

from multi import APSS_candis

APSS_candis(dat, sort_by="Correct rate')
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import pandas as pd

import sys
sys.path.append("statlib")
from multi import APSS_candis

data = pd.read_csv("data/iris.csv")
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APSS_candis(data)

Correct rate Wilks' lambda Can. corr. coeff. variables
6 98.000000 0.024976 0.983818 [sw, pl, pw]
14 98.000000 0.023439 0.984821 [sl, sw, pl, pw]
10 97.333333 0.030580 0.981906 [s1l, pl, pw]
4 96.666667 0.038316 0.976028 [sw, pw]
9 96.666667 0.039878 0.979237 [sl, pl]
13 96.666667 0.031546 0.980800 [sl, sw, pl]
0 96.000000 0.071117 0.963786 [pw]
96.000000 0.043777 0.975519 [pl, pw]
8 96.000000 0.071044 0.963792 [sl, pw]
12 96.000000 0.035025 0.977679 [sl, sw, pw]
5 95.333333 0.036884 0.977690 [sw, pl]
1 94.666667 0.058628 0.970243 [pl]
11 80.000000 0.166544 0.898133 [sl, sw]
7 74.666667 0.381294 0.786578 [sl]
3 55.333333 0.599217 0.633074 [sw]
APSS_candis(data, sort_by="Wilks’ lambda")
Correct rate Wilks' lambda Can. corr. coeff. variables
14 98.000000 0.023439 0.984821 [sl, sw, pl, pw]
6 98.000000 0.024976 0.983818 [sw, pl, pw]
10 97.333333 0.030580 0.981906 [sl, pl, pwl
13 96.666667 0.031546 0.930800 [sl, sw, pl]
12 96.000000 0.035025 0.977679 [sl, sw, pw]
5 95.333333 0.036884 0.977690 [sw, pl]
4 96.666667 0.038316 0.976028 [sw, pw]
9 96.666667 0.039878 0.979237 [sl, pl]
2 96.000000 0.043777 0.975519 [pl, pw]
1 94.666667 0.058628 0.970243 [pl]




96.000000 0.071044 0.963792 [sl, pw]
0 96.000000 0.071117 0.963786 [pw]
11 80.000000 0.166544 0.898133 [sl, sw]
7 74.666667 0.381294 0.786578 [s1]
3 55.333333 0.599217 0.633074 [sw]
APSS_candis(data, sort_by="Can. corr. coeff.")
Correct rate Wilks' lambda Can. corr. coeff. variables
14 98.000000 0.023439 0.984821 [sl, sw, pl, pw]
6 98.000000 0.024976 0.983818 [sw, pl, pw]
10 97.333333 0.030580 0.981906 [sl, pl, pw]
13 96.666667 0.031546 0.980800 [sl, sw, pl]
9 96.666667 0.039878 0.979237 [sl, pl]
5 95.333333 0.036884 0.977690 [sw, pl]
12 96.000000 0.035025 0.977679 [s1l, sw, pw]
4 96.666667 0.038316 0.976028 [sw, pw]
2 96.000000 0.043777 0.975519 [pl, pw]
1 94.666667 0.058628 0.970243 [pl]
8 96.000000 0.071044 0.963792 [sl, pw]
0 96.000000 0.071117 0.963786 [pw]
11 80.000000 0.166544 0.898133 [sl, sw]
7 74.666667 0.381294 0.786578 [s1]
3 55.333333 0.599217 0.633074 [sw]




